Multiplication et Division par 10 (D)

Trouvez chaque produit ou quotient.

4,84 x 10 = 8,96 X 10 =
6,7 X 10 = 6,223 - 10 =
9,6543 X 10 = 7,9274 X 10 =
6,1 X 10 = 2,6 Xx10 =
3,7+ 10 = 6,46 X 10 =
1,0059 - 10 = 4,1874 x 10 =
8,2104 +- 10 = 1,196 - 10 =
7,7 +10 = 4,14 x 10 =
8,426 - 10 = 1,199 - 10 =
8,423 x 10 = 3,88 +-10 =
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Multiplication et Division par 10 (D) Solutions

Trouvez chaque produit ou quotient.

4,84 x 10 =48,4

6,7 X 10 = 67

9,6543 x 10 = 96,543

6,1 X 10 =61

3,7+10=0,37

1,0059 - 10 =10,10059

8,2104 +-10=0,82104

7,7+10=0,77

8,426 - 10 = 0,8426

8,423 X 10 = 84,23

8,96 x 10 = 89,6

6,223 +10=10,6223

7,9274 x 10 =79,274

2,6 Xx10 =26

6,46 X 10 = 64,6

4,1874 x 10 = 41,874

1,196 ~10=0,1196

4,14 x10=41,4

1,199 +10=0,1199

3,88 +~10=0,388
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